SAMPLE | GLOBAL BUDGET

Balance will be the Need minus Total Income. This is the amount that you still need

Catalyst to raise for this budget line.

8 aSia Total Income should equal the sum of all “Income” columns in each row. The

Organization name
Date

Salaries

For example, 3 people
Full-time staff @ $29,000/yr $  87,000.00 $  87,000.00
Part-time staff $
Accountant $
Rent $
Utilities $
Computer $ -
Internet $
Softw are $
Telephone $
Photocopies $
Postage $
Annual audit

Website registration fees

Action 1
Program staff
$20/person x 20
Transportation people $ 400.00 $ 400.00
For example,
Per diem $50/person x 20 S 1,000.00 $ 1,000.00
For example,
Hotel $80/roomx 10 rooms ¢ 2,400.00 $ 2,400.00
Other cost (Explain) S - $ -
Other cost (Explain) S - $ -
Action 1 subtotal $ 3,800.00 $ - $ - $ - $ - $ 3,800.00
Action 2
Program staff
For example,
Transportation $20/person x 20 $ 400.00 $ 400.00
Other cost (Explain) $ - $ -
Other cost (Explain) S - $ -
Other cost (Explain) S - $ -
Action 2 subtotal $ 400.00 $ - $ - $ - $ - T3 400.00
Action 3 $ -
Program staff $ -
For example,
Transportation $20/person x 20 $ 400.00 $ 400.00
Other cost (Explain) $ - $ -
Other cost (Explain) $ - $ -
Other cost (Explain) S - $ -
Action 3 subtotal $ 400.00 $§ - $ - $ - $ - $ 400.00




